L’ Arrondissement (B)
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Arrondissez chaque nombre ci-dessous a la centaine pres.
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L’ Arrondissement (B) Solutions

509
500

990
1,000

614
600

3,978
4,000

9,795
9,800

71,264
71,300

97,478
97.500

42,272
42300

Arrondissez chaque nombre ci-dessous a la centaine pres.

987 114
1,000 100
440 679
400 700
459 9,639
500 9,600
6,704 9,384
6,700 9,400
1,212 6,014
1.200 6,000
87,384 70,676
87.400 70,700
92,021 63,989
92,000 64000
70,872 705,195
70,900 705,200

591
600

718
700

2,827
2.800

6,134
6,100

1,734
1,700

57,870
57.900

17,603
17,600

518,635
518,600
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